Notations

o (w, P): 00000000 R*00 Lévy O

0.

o P
P

e~ wt] = e~ &) ((wy, P) O symbol)
L. POODOOODO.

o Vi(w) := {(s,z) : s € (0,t],x € U(ws)}.
(U(x) : [U(x)|=100000)



e M:={n:R, xROO0OOODODO,
A€ BRy xRY,|A| < 0o = n(A) < oo}
e G:=o[n(A): AcBR; xR
o G :=o[n(A): Ac B(Ry x RY)]
(1(4) = 1(AN ((0,1] x RY)
e (): (M,G)00 Poisson 00O OO0 :
VAi,..., A, € B[Ry x RY)
AiNA; =0, |A] < oo,

? (n{nm» - ki}) = [Texp(- 145




Strong and Weak disorder
BeR:00000.

o Z 1= Plexp(8n(V2))] (DDDOD)

o Q[Z:] = exp((e’ — 1)t).

o \:=¢e” —1.

o W,:=e Mz, (DODOOODODODOO)

Q(Ws =0)=1 (Strong disorder)
Q(Wsx >0)=1 (Weak disorder)

(W0 Q-0000000.
= AW, 1= tlim W: Q-a.e.
= Kolmogorov’s 0-1 law 0 0O )



Main Theorem

id=1,1<3a<?2

lim SUP¢_0 p(f)HfH_a < o0
-

VB #0, Q(We =0) = 1.
(ii) (wt, P) O transient

—

—oo < dBo < 0 < JB1 < o0,

VB € (6o, 01), Q(Wo > 0) = 1.



Examples

e o-stable process:

p(&) = [I€]]¢ (0 < a < 2).
d:1,1<a<2:>(i)DDDDDDD.

d>a= (i)000000O.

e relativistic a-stable process:
p(€) = ([€]* +m**)*/2 —m
0<a<2,m>0).

d=1= ()000000o0.
d>3= (ii)0000ooo.

e geometric a-stable process:

p(€) = log(1 + [I€]|”) (0 < & < 2).
d=1,1<a<2= ()0000000.
d>a= (ii)0000000.



